


OPERATION

12

BELT SANDING OUTSIDE CURVES
1. Turn sander ON and allow it to reach full 
speed before apply a load.

2. Using both hands, slowly guide the workpiece 
against the sanding belt. Maintain downward 
pressure on the workpiece against the table, 
gently working it along the sanding belt until the 
desired curve has been created (Fig. J).

3. When finished, turn the sander OFF. Fig. J

BELT SANDING INSIDE CURVES
To belt sand any inside curves, use the rounded sur-
face of the large or the small sanding drum wheel. Re-
moving the workstop may be required in order to do 
so. Make sure to unplug the sander when making any 
adjustments.

1. Set table tilt to 0° and remove the work stop.

2. Power on the sander and allow it to reach full speed 
before applying a workpiece.

3. Using both hands, slowly guide the workpiece 
against the drum wheel portion of the sanding belt. 
Maintain downward pressure on the workpiece against 
the table, gently working it along the sanding belt until 
the desired curve has been created (Fig. L).

CHANGING SANDING BELTS
To replace the 4 x 24 inch sanding belt, disconnect 
the machine from its power source and slide the belt 
tensioning lever (Fig. M) to the right to release the ten-
sion. Remove the sanding belt and put on the grit of 
your choice before re-tightening the belt tensioning 
lever.

Fig. K

Fig. L

Fig. M



OPERATION

13

ADJUST THE TRACKING OF THE SANDING BELT

1. Install the belt sanding attachment and remove all tools from the sander.

2. Connect the sander to a power source and turn it ON. Immediately turn the machine OFF, checking to see if 
the sanding belt is centered on the drums as opposed to moving closer to the top or bottom edge of the belt sand-
ing attachment.

3. If the sanding belt moves toward the top of the belt sanding attachment, rotate the tracking control knob (see 
Fig. M) counterclockwise a quarter of a turn.

4. If the sanding belt moves toward the bottom of the belt sanding attachment, rotate the tracking knob clockwise 
a quarter of a turn.

5. Turn the machine ON, then immediately turn the machine OFF. The sanding belt should be centered on the 
drums. If it is, then the belt is tracking properly and no further adjustments need to be made. Otherwise, repeat 
steps 3 and 4.

BEVEL SANDING (Fig. N)

The work table has the capacity to tilt from 0 to 45 degrees 
for sanding bevels on your workpiece. The table tilt stop 
bracket has stops for quickly setting the most common 
angles: 0°, 15°, 22.5°, 30°, and 45°.

1. Unplug the sander from its power source.

2. Install the spindle sander or the belt-sanding attachment.

3. Loosen both table tilt lock knobs.

4. Tilt table to the desired angle. 

5. Tighten both lock knobs to secure the table’s tilt.

Fig. N



14

MAINTENANCE

WARNING: For your own safety, turn the switch OFF and remove the plug from the electrical outlet before 
adjusting or performing maintenance or lubrication work on the belt/spindle sander.

Before using, check to make sure parts are not damaged, missing, or worn. Check for alignment of moving parts, 
binding of moving parts, improper mounting, or any other conditions that may affect the sander operation. If any 
of these conditions exist, do not use the sander until parts are replaced or the sander is properly repaired. Fre-
quently blow or vacuum dust from all sanding parts and motor housing.

WARNING: Any attempt to repair or replace electrical parts on this tool may be hazardous. Repairs should be 
done by a qualified service technician.

Clean the machine regularly, vacuuming excess wood chips and saw dust and wiping down the remaining dust 
with a cloth. If resin accumulates, clean it with a resin-dissolving cleaning agent.

Check the drive belt for damage and wear once a month. Make sure that it is properly tensioned, especially after 
times of heavy usage.

CHANGING MOTOR BRUSHES
This sander has a permanent magnet motor that uses carbon brushes (Fig. O) for operation. These brushes nor-
mally wear out over time and eventually need to be replaced. Symptoms of worn brushes include surging or lost 
power, inconsistent operation of the motor, or an inability of the motor to start. New brushes are available on our 
website at WENproducts.com

To change the motor brushes:
1. Disconnect the machine from its power source.

2. Turn machine on its side and remove the screws se-
curing the base plate in place. Remove the base plate.

3. Loosen the screws that secure the clamp plates over 
the brush assembly. Do not completely remove the plate 
(Fig. P).

4. Disconnect the wires attached to your brush assembly. 
Gently pull the brush assembly straight toward you and 
then upwards to remove it.

5. Replace motor brush assembly. Reconnect the wires 
and tighten the clamp plate back into place.

6. Repeat these steps 3 to 5 with the other brush assem-
bly.

7. Re-install and tighten the base plate.

Fig. O

Fig. P



PROBLEM CAUSE SOLUTION
Sanding grains 
easily rub off

1) Sanding belt/sleeve has been stored in an 
incorrect environment.
2) Sanding belt/sleeve has been damaged or 
folded.

1) Store sanding accessories away from ex-
tremely hot/dry temperatures.
2) Store sanding accessories flat—not bent or 
folded.

Deep sanding 
grooves or scars 
in workpiece.

1) Sanding belt/sleeve grit is too coarse for 
the desired finish.
2) Workpiece sanded across the grain.
3) Too much sanding force on workpiece.
4) Workpiece held still against sanding 
surface for too long.

1) Use a finer-grit sanding accessory.
2) Sand with the grain of the wood.
3) Reduce pressure on workpiece while sand-
ing.
4) Keep workpiece moving while sanding on 
the sanding accessory.

Sanding surface 
clogs quickly

1) Too much pressure against belt/spindle
2) Sanding softwood.

1) Clean sanding belt/sleeve and then reduce 
pressure on workpiece while sanding.
2) Use different stock/sanding accessories, or 
accept that this will happen and plan on clean-
ing or replacing belts/sleeves frequently.

Burns on work-
piece

1) Use a sanding grit that is too fine.
2) Using too much pressure.
3) Work held still for too long.
4) Sanding belt/sleeve loaded with debris.

1) Use a coarser-grit sanding accessory.
2) Reduce sanding pressure on workpiece
3) Do not keep workpiece in one place for too 
long.
4) Clean or replace the sleeve or belt.

Sander does not 
turn on

1) Not plugged in to an electrical outlet
2) Defective power switch
3) Motor or wiring problem

1) Connect the unit to an outlet.
2) Replace the switch.
3) Have a qualified technician make repairs.

Motor will not 
start—fuses or 
circuit breakers 
tripping/blowing

1) Short circuit in line, cord or plug.
2) Short circuit in motor or loose connec-
tions
3) Incorrect fuses or circuit breakers in 
power line.

1) Inspect cord or plug for damaged insulation 
and shorted wires.
2) Inspect all connections on motor for loose 
or shorted terminals and/or worn insulation.
3) Install correct fuses or circuit breakers or 
switch tool to an appropriately sized circuit.

Motor overheats 1) Motor overloaded
2) Extension cord too long with an insuf-
ficient gauge.

1) Reduce load on motor (pressure on object 
being sanded)
2) Utilize an extension cord of appropriate 
gauge and length or plug tool directly into 
outlet.

Sander vibrates 
excessively or 
has noisy opera-
tion.

1) Sanding belt/sleeve out of balance/loose.
2) Motor or component loose.
3) Pulley loose.
4) Machine incorrectly mounted to bench.
5) Faulty motor bearings.

1) Ensure sleeve/belt is properly installed.
2) Inspect/replace damaged bolts/nuts and 
retighten with thread-locking fluid.
3) Re-align/replace shaft, pulley set screw and 
key.
4) Adjust feet. Tighten mounting hardware.
5) Test by rotating shaft; rotational grinding/
loose shaft requires bearing replacement.

TROUBLESHOOTING

15



16

EXPLODED VIEW AND PARTS LIST

No. Part Description
65 6523-065 Field Assembly
66 6523-066 Magnetic Shoe (South)
67 6523-067 Magnetic Shoe (North)
68 6523-068 Rotor Base
69 6523-069 Carbon Brush Holder
70 6523-070 Carbon Brush
71 6523-071 Carbon Brush Spring
72 6523-072 Cord Clamp
73 6523-073 Washer M4
75 6523-075 Tap Screw M4
76 6523-076 Flat Washer M6
77 6523-077 Bearing Cover
78 6523-078 Tap Screw M4
79 6523-079 Bearing Sleeve (Upper)
80 6523-080 Compression Spring
81 6523-081 Spindle 
83 6523-083 Woodruff  Key 5x19
84 6523-084 Flat Washer M17
85 6523-085 Washer M17
86 6523-086 Pulley Plate
87 6523-087 Pulley (Lower)
88 6523-088 Belt 3/8" X 160XL
89 6523-089 Belt 1/4" X 160XL
90 6523-090 Pulley (Upper)
91 6523-091 Bearing Sleeve (Lower)
92 6523-092 Metal Switch Plate
93 6523-093 Plastic Switch Plate Cover
95 6523-095 Switch Pivot Plate
96 6523-096 Switch
97 6523-097 Switch Key
99 6523-099 Phillip Screw M4
100 6523-100 Spindle Nut Wrench
102 6523-102 1" Throat Plate
103 6523-103 Knob  
107 6523-107 Cap Screw
108 6523-108 3/4" Throat Plate
111 6523-111 1/2" Throat Plate
113 6523-113 Spindle Washer M8
114 6523-114 Rubber Foot
116 6523-116 Spindle Washer M8
117 6523-117 Spindle Washer M8
118 6523-118 2" Sanding Sleeve, 80 Grit
119 6523-119 1 1/2" Sanding Sleeve, 80 Grit
120 6523-120 1" Sanding Sleeve, 80 Grit
121 6523-121 3/4" Sanding Sleeve, 80 Grit
122 6523-122 1/2" Sanding Sleeve, 80 Grit
124 6523-124 Angle Plate Bracket
125 6523-125 Base
126 6523-126 Phillips Screw M5
127 6523-127 Table Insert
128 6523-128 Strain Relief
130 6523-130 Power Cord
131 6523-131 Cord Clamp
132 6523-132 1-1/2" Throat Plate
133 6523-133 2" Throat Plate
134 6523-134 Bottom Guard
135 6523-135 Motor Vent Cover

136A 6523-136A Brush Assembly

No. Part Description
1 6523-001 Hex Nut M8
2 6523-002 Ball Bearing
3 6523-003 Aluminum Drum Wheel 3"x4"
4 6523-004 Spindle Washer 
5 6523-005 Lock Nut M5
6 6523-006 Flat Washer M5
7 6523-007 Extension Spring
8 6523-008 Belt Tesnioning Arm
9 6523-009 Knob Bolt M5-.8 X 35

10 6523-010 Rubber Washer M6
12 6523-012 Compression Spring
13 6523-013 Flat Washer M14
14 6523-014 Retaining Ring M12
15 6523-015 Ball Bearing
16 6523-016 Aluminum Drum Wheel 1.5x3.375
17 6523-017 Drum Axle
18 6523-018 Drum Carriage
19 6523-019 Drum Wheel Housing
20 6523-020 Screw M4
21 6523-021 Flat Washer M5
22 6523-022 Belt Housing Cover
23 6523-023 Screw M5
24 6523-024 Screw M5
25 6523-025 Sanding Belt 4" X 24" 80-GRIT
26 6523-026 Wing Bolt M6
27 6523-027 Lock Washer M5
29 6523-029 Backstop
30 6523-030 Fixed Table
31 6523-031 Screw M6
32 6523-032 Phillips Screw M6
33 6523-033 Phillips Screw M5
34 6523-034 Drum Housing Support 
35 6523-035 Square Nut M6
36 6523-036 Dust Port Gasket
37 6523-037 Dust Port 1-1/2"
39 6523-039 Lock Washer M6
40 6523-040 Phillips Screw M5
41 6523-041 Tilting Table
42 6523-042 Table Tilt Pin M6
43 6523-043 Table Tilt Bracket(Left)
45 6523-045 Table Tilt Stop Bracket (Right)
46 6523-046 Tap Screw M4
47 6523-047 Upper Bearing Support 
48 6523-048 Ball Bearing
49 6523-049 Felt Ring
50 6523-050 Rubber Gasket
51 6523-051 Spindle Washer
52 6523-052 Bearing Sleeve 
53 6523-053 Lower Bearing Support 
54 6523-054 Tap Screw M4
55 6523-055 Wheel Support
58 6523-058 Wire Clamp
59 6523-059 Rectifier 
60 6523-060 Tap Screw M4
61 6523-061 Drum Wheel 
62 6523-062 Rotor  
63 6523-063 Ball Bearing
64 6523-064 Fan Shroud



17

EXPLODED VIEW AND PARTS LIST

46

6

78

46

1

2

3

5

24

6
5

7
8

9

134

10

12

14

1615

15

17

21

19

20

14

22

25 24
23 26

29
30

31

33

27

27

33

34

35

36

37

40

41

42

43
21

58

33

45
21
27

33

46

47

48

49

50

51
52

51

46

53

54

55

114

46

59

60

61

15

13

62

63

64

65

66

67

68

69
70

71
72
73

46

21

75

76
54

77

50
49

48

47

78
79

80

8183

84
85

78

85

84

86

87

88

89

18

91

86

78

92
93

95

96
97

99

100

102

90

1

107

108
111

113

103

114117

32

27

39

124

125

126
127

128

1

130

58

46

132
133

131

135

121
122

120
119118

116 103

1
107

136A



18

WEN Products is committed to building tools that are dependable for years. Our warranties are consistent with 
this commitment and our dedication to quality.

LIMITED WARRANTY OF WEN CONSUMER POWER TOOLS PRODUCTS FOR HOME USE

GREAT LAKES TECHNOLOGIES, LLC (“Seller”) warrants to the original purchaser only, that all WEN con-
sumer power tools will be free from defects in material or workmanship for a period of two (2) years from date of 
purchase. Ninety days for all WEN products, if the tool is used for professional use.

SELLER’S SOLE OBLIGATION AND YOUR EXCLUSIVE REMEDY under this Limited Warranty and, to 
the extent permitted by law, any warranty or condition implied by law, shall be the repair or replacement of parts, 
without charge, which are defective in material or workmanship and which have not been misused, carelessly 
handled, or misrepaired by persons other than Seller or Authorized Service Center. To make a claim under this 
Limited Warranty, you must make sure to keep a copy of your proof of purchase that clearly defines the Date of 
Purchase (month and year) and the Place of Purchase. Place of purchase must be a direct vendor of Great Lakes 
Technologies, LLC. Third party vendors such as garage sales, pawn shops, resale shops, or any other secondhand 
merchant void the warranty included with this product.  Contact techsupport@wenproducts.com or 1-800-232-
1195 to make arrangements for repairs and transportation. 

When returning a product for warranty service, the shipping charges must be prepaid by the purchaser. The prod-
uct must be shipped in its original container (or an equivalent), properly packed to withstand the hazards of ship-
ment. The product must be fully insured with a copy of the warranty card and/or the proof of purchase enclosed. 
There must also be a description of the problem in order to help our repairs department diagnose and fix the 
issue. Repairs will be made and the product will be returned and shipped back to the purchaser at no charge.

THIS LIMITED WARRANTY DOES NOT APPLY TO ACCESSORY ITEMS THAT WEAR OUT FROM 
REGULAR USAGE OVER TIME INCLUDING BELTS, BRUSHES, BLADES, ETC. 

ANY IMPLIED WARRANTIES SHALL BE LIMITED IN DURATION TO TWO (2) YEARS FROM 
DATE OF PURCHASE. SOME STATES IN THE U.S., SOME CANADIAN PROVINCES DO NOT AL-
LOW LIMITATIONS ON HOW LONG AN IMPLIED WARRANTY LASTS, SO THE ABOVE LIMITA-
TION MAY NOT APPLY TO YOU.

IN NO EVENT SHALL SELLER BE LIABLE FOR ANY INCIDENTAL OR CONSEQUENTIAL DAM-
AGES (INCLUDING BUT NOT LIMITED TO LIABILITY FOR LOSS OF PROFITS) ARISING FROM 
THE SALE OR USE OF THIS PRODUCT. SOME STATES IN THE U.S. AND SOME CANADIAN 
PROVINCES DO NOT ALLOW THE EXCLUSION OR LIMITATION OF INCIDENTAL OR CON-
SEQUENTIAL DAMAGES, SO THE ABOVE LIMITATION OR EXCLUSION MAY NOT APPLY TO 
YOU.

THIS LIMITED WARRANTY GIVES YOU SPECIFIC LEGAL RIGHTS, AND YOU MAY ALSO HAVE 
OTHER RIGHTS WHICH VARY FROM STATE TO STATE IN THE U.S., PROVINCE TO PROVINCE 
IN CANADA AND FROM COUNTRY TO COUNTRY.
THIS LIMITED WARRANTY APPLIES ONLY TO PORTABLE ELECTRIC TOOLS, BENCH POW-
ER TOOLS, OUTDOOR POWER EQUIPMENT AND PNEUMATIC TOOLS SOLD WITHIN THE 
UNITED STATES OF AMERICA, CANADA AND THE COMMONWEALTH OF PUERTO RICO. FOR 
WARRANTY COVERAGE WITHIN OTHER COUNTRIES, CONTACT THE WEN CUSTOMER SUP-
PORT LINE.

LIMITED TWO YEAR WARRANTY


